2. MIPAS Daily Report for level 2 products summary report
(See mipas_daily_report_level2_ ML2PP_7_03_W_20060508.html for a detailed report).

2.1. General Info

¢ 2.1.1 Report summary
¢ 2.1.2 Summary per product

2.2 Processing performance indicators

e 2.2.1 Successful retrievals

e 2.2.2 Pressure overview

e 2.2.3 Temperature overview

¢ 2.2.4 Species overview

¢ 2.2.5 History of daily averages

2.1 General Info

This report contains a daily analysis on parameters extracted from MIPAS level 2 data (The MIP_NL__ 2P product).

2.1.1 Report summary

The table below shows general characteristics of the data that are included into this report.
Item Value

Report version

Time of report generation

Data source version ML2PP/7.03-W

Processing scope for products 08MAY2006 00:00:00 to 09MAY 2006 00:00:00

Start time of first product within scope |08MAY2006 04:42:26

Stop time of last product within scope |08MAY2006 23:14:07

Total number of level 2 products 8

Number of level 2 products with errors |0

v1.11 26-05-2015
26APR2016 15:59:50

2.1.2 Summary per product

The following table shows a summary for each product used in this report.

# Product name Start time Stop time Prod err |Number of scans (tot/proc) Quality summary warnings

0 |MIP_NL__2PWDSI20060508_044226_000042802047_00291_21888_1000.N1|08MAY2006 04:42:26 | 08MAY2006 05:53:46 | 0 90/90

1| MIP_NL__2PWDSI20060508_055436_000060302047_00292_21889_1000.N1 |08MAY2006 05:54:36 | 08MAY2006 07:35:05 |0 128/128 VMR_TERM_MACRO_MICRO[O3/micro:1; CH4/micro:1]
2|MIP_NL__2PWDSI20060508_073512_000060302047_00293_21890_1000.N1 | 08MAY2006 07:35:12 | 0BMAY2006 09:15:41 |0 110/110
3|MIP_NL__2PWDSI20060508_ 091548 000020122047_00294_21891_ 1000.N1|08MAY2006 09:15:48 |08BMAY2006 09:49:20 |0 44/44

4 |MIP_NL__2PWDSI20060508_180714_000042792047_00299_21896_1000.N1|08MAY2006 18:07:14 | 08MAY2006 19:18:33 |0 90/90

5|MIP_NL__2PWDSI20060508_191923_000060302047_00300_21897_1000.N1 | 08MAY2006 19:19:23 | 0BMAY2006 20:59:53 |0 128/128 VMR_TERM_MACRO_MICRO[HCN/micro:1]

6 |MIP_NL__2PWDSI20060508_205959_000060302047_00301_21898_ 1000.N1 | 08MAY2006 20:59:59 | 0BMAY2006 22:40:29 |0 128/128

7 |MIP_NL__2PWDSI20060508_224035_000020122047_00302_21899_1000.N1 | 08MAY2006 22:40:35 | 0BMAY2006 23:14:07 |0 44/44

2.2 Processing performance indicators
2.2.1 Successful retrievals

This section includes a table with statistics on the number of retrievals, as well as a worldmap plot that shows successful retrievals.

RETRIEVAL MDS |# scans processed |# Successful retrievals| %
PT 762 749 98.294
H20 762 749 98.294
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2.2.2 Pressure overview
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This section shows values (left) and error (right) for pressure after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.3 Temperature overview

This section shows values (left) and error (right) for temperature after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4 Species overview
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2.2.4.1 H20 overview This section shows values (left) and error (right) for H20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.2 O3 overview This section shows values (left) and error (right) for O3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.3 HNO3 overview This section shows values (left) and error (right) for HNO3 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.4 CH4 overview This section shows values (left) and error (right) for CH4 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.5 N20 overview This section shows values (left) and error (right) for N20 after binning individual sweep values over retrieved altitude and tangent latitude.
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2.2.4.6 NO2 overview This section shows values (left) and error (right) for NO2 after binning individual sweep values over retrieved altitude and Sun Elevation Angle. Note that for NO2 the bin heights are 8 km.
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Time= [atart of day]
F12 vir [ppmv] far pressure 100.0 hPa
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il . R R R SRR e ™ H——aC ta —E0 deg
: E : B0 ta —BS deg
: : ; —65 to —20 deg
e = 0 ]+ ___________________________________________________ S N, A [F-6-20 ta 20 deg
: : : Z0 to 85 deg
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COFZ wmr [pprmy] for pressure 100.0 hPa
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x (a0 ta —50 deg
= [ —B0 tn —BS deg
& 02 —B5 to —20 deg
v [F-E1-20 ta 20 deg
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Eo0Bf frore o e oo TIREOTUTERE t{ |—88 ta 80 deg
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Timz [atart of day]
CCL4 wrnr [pprewv] far pressure 190.0 hPa
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H—+—9C to —E0 deg
[#——BC to —B5 deqg

—85 1o 210 deg

EE1—20C to 20 deg

20 to &5 deg

64 to 30 deg

BO to 90 deg
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HCM wmr [pprav] for pressure 100.9 hPa
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Timz [atart of day]
F14 vir [ppmv] far pressure 100.0 hPa
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b ............................. ............................ oo ............................

H—+—0C to —E0 deg
[ —BC to —E& deg
—85 1o 210 deg
BE1—-20 to 20 deg
20 to &5 deg
64 to 30 deg
B0 to 90 deq
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F22 vmr [pprrv] for pressure 100.0 hPa
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m [3-E1-20 ta 20 deg
£ 20 to 85 dag
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Temperature [K] for pressure 10,0 RPa
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Tangant altitude [km] for pressure 10.0 hPa
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Cally overage [see tila]

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg
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Time= [atart of day]
H2O wrnr [ppry] far pressure 19.0 hPa
FRs T : .

Caily averaga [ase title]
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H—+—00C to —E0 deg
[+ —BC to —B5 deg
=05 to =20 deg
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B4 to 30 deg
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Caily average [zee title]
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Caily avaraga [Eee t'ltla]
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03 vmr [ppmy] for pressure 1000 hPa

H—+—0C to —E0 deg
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——0 to —20 deg
EE1—2C to 20 deg
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HMO3 wmr [ppry] for pressure 10.0 hPa

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg
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B0 to 90 deg
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CH4 wmr [ppmy] for pressure 10.0 hPa

Caily averaga [==s title]

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg
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Time= [atart of day]

M2 vrnr [ppryv] far pressure 19.0 hPa
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Caily average [see title]

Caily average [zee title]

MNOZ wmr, sun elev==0 [ppmy] for pressure 10.0 hPa
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H—+—0C to —E0 deg
[+ —B0C to —B5 deg
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EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg
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Time= [atart of day]
MOZ wmr, sun elev<=0 [ppmy] for pressure 10,0 RPa
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Daily averaga [ase titla]

Daily averaga [ase titla]
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F11 vmr [ppmy] far pressure 10.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
—e—fG to —20 deg
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg
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Time= [atart of day]

CLMO vmr [ppmy] faor pressure 10.0 RPa

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg

a0 :00.50

D000, 0¢s 00,00 B0:00.00 (600,00 O0:00.00 0C: 00,00
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Caily averaga [ase titla]
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MZDE vmr [pprmy] for pressure 10.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
——0 to —20 deg
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg
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Caily overage [see title]

Time= [atart of day]

F12 vmr [ppmy] far pressure 10.0 hPa
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H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

: 20 to &5 deg
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Caily overage [see title]

Dally average [see titla]

COFZ wmr [pprv] for pressure 10.0 hPa
4.0x107 : : :
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H—+—9C to —80 deg
[#—#—BC to —B5 deg
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Timz [atart of day]
CCL4 vmr [pprev] far pressure 19.0 hRa
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HCH wrr [pprov] for pressure 10.0 hPa

1.8 ;
T H—+—00 ta B0 deg
Ok [4——B0 ta —B5 deg
A —B5 to —20 deg
m [F-E1-20 ta 20 deg
£ 20 to 85 dag
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07 f02 /5006 22 /0% £ 2006 o /0373006 24 /03 2006 08,/ D4 /2006 237504 /5006 Of /05 /2006

Timz [atart of day]
F14 vmr [ppmy] far pressure 10.0 hPa
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H—+—0C to —E0 deg
[ —BC to —E& deg
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B0 to 90 deq
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Caily overage [see title]
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F22 vmr [ppmy] far pressure 10.0 hPa
o ! ;

H—+—9C to —80 deg
[#—#—BC to —B5 deg
e—0 to —20 deq
FE1-20 to 20 deg
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Temperature [K] for pressure 1.0 hPa
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Tangent altitude [km] for pressure 1.0 hPa
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Caily avaraga [Eee t'ltla]
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H—+—0C to —E0 deg
[+ —B0C to —B5 deg
F—00 to —20 deq
EE1—2C to 20 deg
20 to &5 deq
&5 to 80 deg

B0 to 00 deg
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Time= [atart of day]
HZC wimr [pprmy] far pressure 1.0 hPa
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ol o o e e
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o B0 tn —B5 deg
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Daily averaga [ase title]
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Caily averaga [==s title]
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03 wmr [ppmy] for pressure 1.0 hPa

H—+—0C to —E0 deg
[+ —B0C to —B5 deg
——0 to —20 deg
EE1—2C to 20 deg

20 to &5 deq

&5 to 80 deg

B0 to 00 deg

D0500,00 0¢: 00,00 O0:00,00 000000 (000,00 O0:00.00 000,00
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Time= [atart of day]

HMOZ wmr [pprav] for pressure 1.0 hPa

H——0C to —E0 deg
[+ —B0C to —B5 deg
=05 to =20 deg
EE1—2C to 20 deg

20 to &5 deg

B4 to 30 deg

B0 to 90 deg
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Caily average [zee title]

CH4 vmr [ppmy] for pressure 1.0 hPa
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H—+—0C to —E0 deg
[+ —B0C to —B5 deg

0.4 —4—85 ta —20 deg
[F-E1—-20 ta 20 deg
20 to &5 deq
0.2 ——BS to 30 deq
B0 to 90 deg

Caily averaga [==s title]
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Time= [atart of day]
MEC vimr [ppryv] far pressure 1.0 hPa
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H——00 to —E0 deg
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MOZ wrar, sun elev==0 [ppmy] for preasure 1.0 hPa

00020
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& : : : : : i | fF—o0 ta —=0 deg
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Time= [atart of day]
MOZ wmr, sun elev<Q [ppmy] for pressure 1.0 hPa
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F11 wimr [ppmy] for pressure 1.0 hPo
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Time= [atart of day]
CLNO wmr [pprmy] for pressure 1.0 RPo
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Caily averaga [ase titla]

MZOE wvmir [pprmv] for pressure 1.0 hPa
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F11 winr [ppmy] far pressure 10.0 hPa
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CLMO wmr [ppmy] for pressure 10.0 hPa

08012
00010
+—+—00 to —B0 deg
00008 4= —BC to —BS deg
—G3 to —20 deg
[E1—Z0 to 20 deg
20 to 35 deq
(0008 —ES to 30 deq
' B0 to 90 deg
0.o004
02002 H : : : : :
[R]W R A O 00,00 D0, O 000,00 QS0 00 Q00,00 O 00, D
'EI?I.-"'CIEJ.-"ECI'DE EEf‘EIEfE‘DDE 'E'E',-'“CIEJ.-’EDEIE E#fﬂﬁf?ﬂﬂ-ﬁ DBfD#fE‘DDE EE,-"'M—;’EDEIE CIEJ.-"DE-I.-"'E'DDE

Timz [atart of day]



MNZCE vimr [pprmy] far pressure 19.0 hPa

0.0030

0.0025 f-ooefommieemmemeeeeeeaees T R
B 0020 | e frenna s frenTTn s 1 f——o0 ta —80 deg
P ! : : ; i || pex—80 to —BS deg
A, : i ; § ; —65 to —20 deg
T 00018 [T g oo R oo T . ] 20 ta 20 deg
o 5 E E 20 to 85 deg
= - : —— 65 to 0 deg
= = L Mo : £0 to 00 deq
8 00010 - oreartre oo SR ITEIG froee M foeen et

; ¥ E
0.0005 TOLC TR R EOTOEEE R SRR froraranen s e :
: _hr'_b"-—_:’_ -
0.0000 . ! . =
DO:00.00 005 00.00 0:00,00 00:00.00 (000,00 00:00,00 000,00
07 /02 /2008 23 F0% F 2008 08 /0372006 24 /103, 2006 08,/ D4,/ 2006 2370473008 08 /05 /20086

Timz [atart of day]
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Temperdature [K] for pressure 1.0 hPa
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Caily overage [see title]
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Daily averaga [=se titls]

MNOZ wrar, sun elevs==0 [ppmy] for pressure 1.0 hPa
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F11 wmr [pprmyv] for pressure 1.0 hPg

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg
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AN Q00000 005, a0

05 /03 /2006 24,/03,/2006 08 /04 2008
Timz [atart of day]
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CLNO vmr [pprmy] for pressure 1.0 hPa

+—+—8C to —80 deg
=3 —B0 to —B5 deg

—G3 to —20 deg

[E1—-2C to 20 deg

20 to 35 deq

—ES to 30 deq

B0 to 90 deg

D3R R0

AN Q00000 005, a0

05 /03 /2006 24,/03,/2006 08 /04 2008
Timz [atart of day]

23 /04 F000 (8 005, 7 206
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NZOE vimr [pprmw] far pressure 1.0 hPa

+—+—8C to —80 deg

4= —BC to —BS deg
—G3 to —20 deg

[E1—-2C to 20 deg

0001

20 to 35 deq

—ES to 30 deq

50 to 90 deg

00005 [ 4---------=---o- Y Mg R e
o L
Py
00000 - - ! , ; ,
D000 05 00,810 S0:00, 08 (000,00 (500, 00 000,05 (0 00,010

07 /02 /5006 20 /0% F2006 0& /032006 T4 ST 2006 08 /04 /2006 23 /04 £ 3006 (8 /05 /2006

Timz [atart of day]



F12 wmr [pprmyv] for pressure 1.0 hPa

Timz [atart of day]
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= : : (90 to —50 deg
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K3 : —B5 to —20 deg
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c : 5 20 to 85 deg
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=0 : : ' E : 80 to 90 deg
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—ES to 30 deq

B0 to 90 deg
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D000 OC 00,410 00,00 (006,50 (300, 00 CSE0, 15 A 00,0
07 F02 00 D3R R0 oG A03/ 2006 B4 O3, 2006 08 /14 /2008 23 /04 F000 (8 005, 7 206

Timz [atart of day]



CCL4 wmr [pprov] for pressure 1.0 hPa

Timz [atart of day]
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; s
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HCM wrar [pprmv] for pressure 1.0 hPa

Timz [atart of day]
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=0 : : ' E : 80 to 90 deg
; s
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F14 wmr [pprmyv] for pressure 1.0 hPa

Timz [atart of day]
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F22 vmr [pprmyv] for pressure 1.0 hPd

Timz [atart of day]
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; s
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